EsAl=E:

PARTS FOR :
STEEL FOLDING LOADING RAMPS 500kg
CAPACITY PER PAIR

MODELS: FCR500

ISSUENO : 1
ISSUE DATE : 09/02/2016

SEALE

ITEM PART NO DESCRIPTION ITEM PART NO DESCRIPTION
1 FCR500.01 RAMP (UPPER) 10 FCR500.10 BOLT M8x40
2 FCR500.02 RAMP(CENTRE) 11 FCR500.11 FLAT WASHER M8
3 FCR500.03 RAMP (LOWER) 12 FCR500.12 NUT M8
4 FCR500.04 BOLT M10x20 13 FCR500.13 RIVET
5 FCR500.05 NUT M10 14 FCR500.14 BOLT M8x16
6 FCR500.06 WHEEL STOP 15 FCR500.15 BOLT M6x16
7 FCR500.07 RAMP (ANGLED) 16 FCR500.16 FLAT WASHER M6
8 FCR500.08 SIDE HANDLE 17 FCR500.17 NUT M6
9 FCR500.09 BOLT M8x20 18 FCR500.18 SAFETY CHAIN (c/w HOOK)
boieeaton iy o J—" ® 01284 757500 &), www.sealey.co.uk

Suffolk Business Park,
Bury St Edmunds, Suffalk, IP32 7AR

01284 703534

(54 sales@sealey.co.uk




